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uksV : [k.M ^v* vfr y?kq mŸkjh; Ádkj dk] ftlesa vkB Á'u gSa] vfuok;Z 
gSA [k.M ^c* esa y?kq mŸkjh; Ádkj ds Á'u gSa ,oa [k.M ^l* esa nh?kZ 
mŸkjh; Á'u gSaA [k.M ^v* dks lcls igys gy fd;k tkuk gSA

Note : Section ‘A’, containing 8 very short answer type 
questions, is compulsory. Section ‘B’ consists of short 
answer type questions and Section ‘C’ consists of long 
answer type questions. Section ‘A’ has to be solved first.

[k.M ^v*
Section ‘A’

  fuEukafdr vfr y?kq mŸkjh; Á'uksa ds mŸkj ,d ;k nks okD;ksa esa 
nhft,A

  Answer the following very short answer type ques-
tions in one or two sentences.  [1 × 08 = 8]

 1. eslksesfjd ÁHkko esa fdl Ádkj ds bysDV™kWu dk foLFkkiu gksrk gS \

  Which type of electron is delocalised in the Meso-
meric effect ?
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 2. ,sfyQSfVd ;k ,sjkseSfVd vehu esa dkSu&lk vehu T;knk Ácy gS ,oa  

D;ksa \

  Which amine is more strong aliphatic or aromatic 
and why ?

 3. dkcksZ/kuk;u ds LFkkf;Ro dk ÿe fyf[k,A

  Write the stability order of carbocation.

 4. la:i.k leko;ork ds fy, dkSu lk ca/k ftEesnkj gS \

  Which bond is responsible for the conformational 
isomerism ?

 5. f=dsUÊh; nks bysDV™kWu ca/k dk uke fyf[k,A

  Write the name of three central two electron bond.

 6. ›hMy ÿk∂V vfHkfÿ;k esa mi;ksx gksus okys mRÁsjd dj uke ,oa 

lw= fyf[k,A

  Write the name and formula of catalyst used in 
Friedel-Craft reaction.

 7. ,slsfVfyu v.kq esa dqy fdrus flXek ,oa ikbZ ca/k gksrs gSa \

  How many sigma and pie (p) bonds are present in 
acetylene molecule ?

 8. leko;ohdj.k dks ifjHkkf"kr dhft,A

  Define the isomerism.
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[k.M ^c*
Section ‘B’

		  fuEukafdr y?kq mŸkjh; Á'uksa ds mŸkj 150-200 'kCn lhek esa nhft,A

		  Answer the following short answer type questions 
with word limit 150-200.� [2 × 5 = 10]

	 1.	 ukfHkd Lusgh vfHkdeZd dks mnkgj.k lfgr le>kb,A

		  Explain the Nucleophilic reagent with the help of 
example.

vFkok@ Or

		  dkcZ,uk;u ij laf{kIr fVIi.kh fyf[k,A

		  Write brief note on Carbanion.

	 2.	 f}d&f=foe leko;ork dks le>kb;sA

		  Explain di-asteroisomerism.

vFkok@ Or

		  vlefer dkcZu ijek.kq ij vkca/kksa dks ÁHkkfor djus okys jklk;fud 
ifjorZu dks le>kb;sA

		  Explain the chemical change affecting bonds on the 
Asymmertic carbon atom.

	 3.	 cSathu dh d{kdh; lajpuk dks le>kb;sA

		  Explain the orbital structure of Benzene.

vFkok@ Or

		  ,sjkseSfVd ÁfrLFkkiu esa s ,oa p ladqyksa ds D;k dk;Z gSa \
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		  What is the role of s and p complexes in Aromatic 
substitution reaction ?

	 4.	 ,Ydhu esa bysDV™ksfQfyd ;ksx dh fÿ;kfof/k mnkgj.k lfgr 
le>kb;sA

		  Explain the electrophilic addition reaction in alk-
enes with example.

vFkok@ Or

		  ,slsfVyhu dh vEyh; Áœfr dks le>kb,A

		  Explain the acidic nature of Acetylene.

	 5.	 ,sfjy gsykbM bySDV™ksfQfyd ,sjkseSfVd ÁfrLFkkiu ds Áfr de 
lfÿ; gSaA D;ksa \

		  Aryl halide is less reactive to electrophilic aromatic 
substitution. Why ?

vFkok@ Or

		  ,sfjy gsykbM dh lksfM;e ,oa dkWij ds lkFk vfHkfÿ;k fyf[k,A

		  Write the reaction of aryl halide with sodium and  
copper.

[k.M ^l*
Section ‘C’

		  fuEukafdr nh?kZ mŸkjh; Á'uksa ds mŸkj 300-350 'kCn lhek esa nhft,A

		  Answer the following long answer type questions 
in about 300-350 words.� [3 × 5 = 15]

	 1.	 Ásjf.kd ÁHkko D;k gS \ Ásjf.kd ÁHkko ds vuqÁ;ksx dks le>kb;sA
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		  What is Inductive effect ? Explain the application of 
inductive effect.

vFkok@ Or

		  vfrla;qXeu dks le>kb;sA vfrla;qXeu ,oa vuqukn esa dksbZ nks varj 
fyf[k,A

		  Describe hyperconjugation. Write any two differ-
ence  between hyperconjugation and resonance.

	 2.	 vuqÿe fu;e D;k gS \

		  What is the sequence rule ?

vFkok@ Or

		  la:i.k dks ifjHkkf"kr dhft,A ,sFksu ,oa n-C;wVsu esa la:i.k dks  
le>kb;sA

		  Define Conformation. Describe the conformation in 
ethane and n-butane.

	 3.	 lkbDyksÁksisu esa lkbDyksC;wVsu vf/kd LFkk;h gS] D;ksa \

		  Cyclobutane is more stable than cyclopropane,  
why ?

vFkok@ Or

		  cs;j ds ruko flºkar dh lhek,° fyf[k,A

		  Write the limitations of Bayer’s strain theory.

	 4.	 ,Fksu] ,Fkhyhu rFkk ,slhfVyhu dh vkisf{kd vEyrk dks le>kb;sA

		  Explain the relative acidity of ethane, ethylene and 
acetylene.
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vFkok@ Or

		  MhYl&,YMj vfHkfÿ;k dks mnkgj.k lfgr le>kb;sA

		  Explain the Diels-Alder reaction with example.

	 5.	 fuEufyf[kr ij fVIif.k;k° fyf[k,µ

		 (v) gkbM™kscksjhdj.k] 

		 (c) ,ikWDlhdj.kA

		  Write short notes on the following :

		  (a) Hydroboriation,

		  (b) Epoxidation.

vFkok@ Or

		  ,Ydsuksa esa fMgkbM™ksgsykstuhdj.k dks le>kb;s \

		  Explain the Dehydrohalogenation in alkanes ?
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